Vectors - Class XIlI

Past Year JEE Questions

Questions
Quetion: 01
- A A ~ A A ~ — A Ao .
letd =i—aj+pk, b =3i+pj —ak and ¢ = ai —2j + k, where a and g are integers. If
— — —
d.b=-1and b. ¢ =10, then <7 X b). 7 is equal to
Solutions
Solution: 01
Answer

Correct Answer is 9

Explanation
a

= (1’ _a9ﬁ)
b =G.p—a)

T =(-a,-2)a, el

—

-
a.b=-1=3-af-—af=-1
S>af=2

Possible value of
aand p

=> 3a-2—-a=10
>20+p+5=0
La==2;,=-1

1 2 -1

1=13 -1 2
-2

N
-7 -
ab ¢

[

=1(=14+4)—2B -4 - 1(-6+2)

—342+44=9



